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— Caractéristiques d’ une image

&

& Dimensions: 128x128
- Résolution: x mm Xy mm
Codage: 8bits
Taille: 128x128 Octets=16384 Octets=16KOctets

Image Lena

— Histogramme d’ une image

Nombre de pixels

B O]

0 256
Count: 16334 Min: 0
Mean: 110.515 Max: 255
StdDev: 57.1649 Mode: 27 (1449)

> Niveau de gris
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Image Thresholding

— From grey level image to 2 color image (Black & White)

& - TR

ClA

# pixels

1] 266
Count 16384 Min: 0
Mean: 110.515 Max: 255
StdDev: 67.164 Mode: 27 (144)
3

> Grey levels
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* Example with Imagel : interactive thresholding

(<) 3 ImageBacillusSubtilis-1-1.jpg

359x360 pixels; 8-bit; 126K

55.21 %
145
255
Default v || B&W v

Dark background | | Stack histogram
Don't reset range Raw values
16-bit histogram

Auto Apply Reset Set

Default configuration
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* Fiji auto-threshold

CR=

Method Choice
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